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import sys
sys.path.append("statlib™)

from multi import gomperts
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e c
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import numpy as np

import matplotlib.pyplot as plt

def graph(y, a, b, c):

X = np.arange(len(y)) + 1

x0 = np.min(x)

x1 = np.max(x)

delta = (x1-x0)%0.05

x2 = np.arange(x0-delta, xl+delta, (x1-x0+2*delta)/500)
y2 = a * b**np.exp(-c * x2)

plt.scatter(x, y, c="black", s=9)
plt.plot(x2, y2, linewidth=0.5, color="red")
plt.xlabel ("x")

plt.ylabel("y")

plt.show ()

import sys
sys.path.append("statlib")
from multi import gomperts

[2.9,
95.7,

5.2,
97.6,

9.1,
98.6,

15.5,
99.2]

y = 25.0, 37.8,




ans = gomperts(y)

y = a * b:‘::‘:exp(_c*x)
a = 134.135, b = 0.00680792, c = 0.224786

X y pred. resid.
0 1 2.9 2.493440 0.406560
1 2 5.2 5.561857 -0.361857
2 3 9.1 10.555993 -1.455993
3 4 15.5 17.609913 -2.109913
4 5 25.0 26.501587 -1.501587
5 6 37.8 36.732508 1.067492
6 7 52.6 47.674639 4.925361
7 8 66.9 58.712182 8.187818
8 9 78.6 69.336534 9.263466
9 10 87.0 79.187098 7.812902
10 11 92.4 88.050641  4.349359
11 12 95.7 95.837286 -0.137286
12 13 97.6 102.548139 -4.948139
13 14 98.6 108.243995 -9.643995
14 15 99.2 113.019613 -13.819613

graph(y, ans["a"], ans["b"], ans["c"])
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